
Sr PL No. Description Unit Stock Stock Value LI/LR-DT
1 33538384 140 KN AIR SPRING FOR FIAT BOG Set 40 19644800 23-Feb-23

2 31020800 MSU FOR TRAC.MOTOR -DEMU 1400HP Set 39 13629227 21-Nov-22

3 31130343 CRF TROUGH FLOOR PART Set 45 9089277 12-May-22

4 36100067 3PHASE KOLKATTA METRO NOSE CONE Nos. 2 8098564 15-Jun-22

5 36020114 WHEEL RGH TRND NDT MRB M 02 003 Nos. 117 5021188 23-Feb-23

6 36050027 DAMPERS FOR 3PH KOL M / RAKE Set 6 4841571 4-Apr-22

7 31020781 GEAR WHEEL FOR 1400HP DEMU Nos. 34 3811400 22-Nov-22

8 36100043 PARTITION FRAMES FOR MRM/DTC Set 12 3256800 17-Jun-22

9 31020598 BOLT COMPL FOR AXLE BOX-EMU/M/3P Set 9689 3039759 2-Mar-23

10 30126101 UNDER FRAME FRONT PART TO 
DRG.NO.5811100

Nos. 18 2777298 28-Oct-22

11 76115616 COPPER COATED WIRE 2.4MM DIA Kgs. 33722.98 2465407 27-Oct-22

12 31111385 LONGITUDINAL BEAM FOR END PART Set 28 2332474 19-Apr-22

13 33995175 BRAC COMP RH & LH-LG 10185 Set 1189 1258438 15-Apr-22

14 30326758 BG lever hanger pin & castle nut T32802 Set 11340 1140015 16-Nov-22

15 62331840 UNF HOT-FIN- SEAMLESS 
TUBE174OD/12MM

MTR 259.68 1047030 23-Sep-22

16 90420019 UNF STEEL PLATE 10 X 2500 X 3200MM Kgs. 13812.01 629186 16-May-22

17 80012693 OIL HYDRAULIC/1000T PRESS IS 309 LTR 7350 543575 6-Jan-23

18 33500034 TRACTION CENTRE ELASTIC JOINT Nos. 259 543510 23-Nov-22

19 30020797 AXLE BOX LONG BOLT M20X293T02608 Nos. 7340 539971 6-Oct-22

20 33503795 RUBBER PAD FOR LONGI BUMP STOP Nos. 1604 511035 28-Sep-22

21 31010714 B/P FOR SEATS&PARTITIONS Set 6 508205 3-Jun-22

22 30321335 PULL ROD FOR BOGIE MOUNTED Nos. 540 409748 27-May-22

23 72901548 ELECTRODE ROLLERS ICF/MW/2609 Nos. 30 397500 18-Nov-22

24 72011075 SHEAR BLADE INV.NO.1389 Set 2 387984 26-Sep-22

25 30922525 HANGER T-0-5-639/1 Nos. 265 387792 11-Apr-22

26 31901566 WIRE ROPE ASSY.ICF/SK-2-90179C1 Nos. 1382 359876 6-Feb-23

27 90336343 STEEL ROUNDS 140MM DIA Kgs. 5175.642 358757 23-Nov-22

28 66715398 WIRE ROPE 5/8 IN X 66 LBS MTR 2103 338681 22-Apr-22

29 76010454 UNF ELECTRODE 2.5MM X 350MM 
RUTILETY

Nos. 104138 334156 16-Feb-23

30 90356342 FLAT SIZE 65X12 Kgs. 8366.668 329881 30-Sep-22

31 30166068 FAN BRACKET ICF/STD16 025 Nos. 3558 270354 23-Aug-22

32 73854013 PREVAIL TORQUE HEX NUT M24 Nos. 5823 262617 16-Nov-22

33 31111415 STEEL TUBE DIA 28(OD) X 257 MM Nos. 3307 261253 2-Feb-23

34 76904738 UNF COLD ROLL STEE STRIP COIL 4X0.35 Kgs. 1311.33 253285 15-Apr-22

35 30922161 BRAKE CYLINDER FIXING BRACKET T-0-3-
807

Nos. 444 240638 13-Jan-23

36 30111020 FRONT & BACK STOPPER FOR CBC H/S Set 61 238470 26-Nov-22

37 30944053 COVERING SHEET FOR LHB LE11359 Nos. 155 204144 14-Jun-22

38 47350519 AUTOMATIC STAR DELTA Nos. 17 180339 9-Aug-22

39 33672234 OLD PIN FOR EQUALISING STAY ICF/SK Set 186 168502 30-Sep-22

40 30011700 PACKING PLATE T-0-1-651 Nos. 4351 165365 16-Feb-23

41 84139687 UNF LOCTITE 518 MEDIUM STRENGTH Nos. 38 151154 6-Jun-22

LIST OF INACTIVE ITEMS FOR ICF:SHELL AS ON 22.03.2024



42 73100316 UNF HEX NUT M20-4 GALVD IS 1363-92 Kgs. 2143.652 150913 19-Dec-22

43 90331163 UNF STEEL ROUNDS 40MM DIA IS:5517-93 Kgs. 3489.114 148827 2-Sep-22

44 30326813 BG LEVER HANGER DRG.T-3-2-802 I- Set 15 137678 28-Jan-23

45 33571259 UNF VERTICAL DAMPER BRACKET Nos. 199 131212 22-Apr-22

46 33500046 LATERAL BUMP STOP Nos. 96 124608 7-Feb-23

47 30076134 BOLTED DESIGN SILENT BLOCK Nos. 132 123248 14-Feb-23

48 90336460 MS ROUNDS 100MM IS:1875-71C2 Kgs. 1942.228 116717 13-Oct-22

49 40304358 WIRECOPSUPERENAMEL20SWG IS449-6 Kgs. 99 110256 2-Apr-22

50 71010361 BRUSH PAINT VARNISH FLAT63 LEN63 Nos. 221 101183 22-Apr-22

51 85012531 SINGLE ROW D/G BALL BEARING 6407ZZ Nos. 50 88205 25-May-22

52 30316121 BRAKE BLOCK K TYP RDSO/SK98146 Nos. 351 85837 13-Feb-23

53 42312887 RIGID STEEL CONDUIT 25MMOD(ELEC) MTR 1276.128 77804 23-Jan-23

54 30020724 Conv collar set Set 7 69573 6-Oct-22

55 30921016 VENTILATOR RING CPL DRG.416412 Nos. 301 55694 23-Feb-23

56 76217565 UNF ANM TYPE NOZZLE SIZE 1/32 L 75M Nos. 351 54405 1-Jun-22

57 73324759 SPLIT PIN SIZE 13 X 112 Nos. 6324 54096 4-Mar-23

58 73110565 UNF PREVAILING TORGUE HEXAGON NUT 
TO

Nos. 16338 46866 2-Mar-23

59 90341004 MS SQUARES 40X40MMISS2062 62 42W Kgs. 770.249 42056 27-Feb-23

60 72157823 CUTTERS SIDE & FACE A200 IS 6308 Nos. 2 39648 23-Jul-22

61 30146069 BODY PILLAR BACK PIECE Nos. 10009 37846 15-Nov-22

62 72157884 CUTTER SIDE FACE STAGTET A200XZ2 Nos. 2 37573 11-Nov-22

63 72220247 GAS NOZZLE PART NO-4300380 Nos. 205 36808 1-Apr-22

64 72047100 INDEX INSERT SPKN 12 03 ED R P30 Nos. 300 33900 11-Nov-22

65 42407503 SOCKET TUBLUG 200 AMPS BS91EL13 Nos. 298 33230 8-Sep-22

66 72900180 UNF CARTRIDGE PTFNR 12 CA 16 Nos. 11 32104 11-Nov-22

67 62302139 BLACKTUBE 32 MM DIA NOMI BORE MTR 101.57 31342 1-Sep-22

68 30024419 FELT RING FOR ROLLER BEARING ARR Nos. 994 29046 27-Sep-22

69 30510612 DOOR LOCK COMPLETE T-51 109/C-VI Nos. 125 28750 25-Aug-22

70 73560595 UNF HEX HD SCREW BL M8X25- 4.6 GALVD Kgs. 399.417 27148 16-Nov-22

71 67752240 PNEU RADIAL TYRE F78XR15-TATA Nos. 5 27122 23-Aug-22

72 72901690 GAS DIFFUSER-W004505 Nos. 244 25108 28-Nov-22

73 31140660 PAIL LAMP BRACKET Nos. 120 25100 27-Jun-22

74 81031257 WHITE CHALK Kgs. 500 25000 26-Aug-22

75 62302036 BLACKTUBE 8MM DIAHEA MTR 179.75 24417 6-Feb-23

76 30326485 WASHER ICF/STD 32-003 ITEM-1 Nos. 7630 24254 30-Sep-22

77 72210576 CARBIDE INSERT SPKN 1203 Nos. 141 23244 23-Jul-22

78 73040680 HEX HD BOLT M8X60 IS:1364(P1)83 Nos. 6148 22463 27-Jul-22

79 30922331 SUPPORT CHANNEL WLRRM4-1-6-412/3 Nos. 4295 21493 23-Feb-23

80 76217425 NOZZLE/TIP CUTOGEN CUTTER A12 IO Nos. 264 21292 10-Nov-22

81 30076146 ANCHOR LINK (FORGED) Nos. 24 18918 24-Jan-23

82 30921028 VESTIBULE HAND RAIL COL.I Nos. 22 18431 2-Dec-22

83 76018891 ELECTRODE- DIA 2.5MMX350MM, RUTILE 
TYPE

Nos. 13673 18428 1-Feb-23

84 72215100 CONTACT TIP ADAPTOR-4304600 Nos. 436 18129 25-May-22

85 72901019 UNF LEVER FOR PDJNL 2525 M15 Nos. 40 17228 23-Jul-22

86 30517424 LOWER BEARI JOURNAL FOR B SIDE D Nos. 70 16714 8-Dec-22



87 62323003 TUBE ERW 15.9 M OD 1.63 THK IS MTR 552.411 16539 23-Jan-23

88 72287007 REDUCTION SLEEVE MT3-2 Nos. 69 15287 17-Jun-22

89 72209070 DRILL TWIST HSS MT 40.0 MM IS 51 Nos. 3 15234 11-Nov-22

90 72209100 DRILL TWIST HSS MT 41.50MM IS 51 Nos. 4 14989 11-Nov-22

91 73530700 UNF SCREWS MS CSK HD AM6X25 G IS 136 Kgs. 180.256 13970 21-Nov-22

92 72047604 INDEX INSURT DNMG 15 06 16 P30 Nos. 70 12936 22-Dec-22

93 84139791 UNF LOCTITE 7471 ACTIVATOR Nos. 24 12776 6-Jun-22

94 83048601 SINGLE PLY 38.50X31CM Nos. 25000 12500 12-Jan-23

95 73561034 UNF SCREW MS BL HEX HD M10X50 G IS 1 Kgs. 139.02 11450 23-Feb-23

96 72157835 CUTTERS SIDE & FACE A200X20 N IS Nos. 1 11428 23-Jul-22

97 73512084 HEX HEAD SCREW M8 X 35 8.8 Nos. 6425 11372 14-Dec-22

98 72208338 DRILL TWIST HSS MT 17.5 MM IS 51 Nos. 22 11319 27-May-22

99 90338297 BR.ST.ROUNDS 16MM DIA IS:9550-01 Kgs. 202.365 9997 10-Oct-22

100 72095003 HSS LONG M/CTAP CP TY B M20X2.50 Nos. 10 9981 8-Feb-23

101 83907245 UNF APPLICATION FOR FINAL 
WITHDRAWAL

Nos. 25680 9823 26-Nov-22

102 72351380 FILES ROUND BASTARD 350 MM IS.19 Nos. 24 9742 8-Feb-23

103 83907233 UNF APPLICATION FOR ADVANCE FOR PF Nos. 9570 9570 22-Nov-22

104 72901810 STAND OFF GUIDE PLAS/CUT:9-8281 Nos. 11 9505 1-Jun-22

105 72181606 CUTTER SHELL END MILL HSSDIA125N Nos. 1 9060 23-Jul-22

106 83059775 UNF TRAVEL ALLOWANCE JOURNAL CUM-
BIL

Nos. 8990 8990 15-Dec-22

107 73818150 UNF HEX HD BOLT M12X110 - 8.8 Nos. 755 8951 24-Feb-23

108 72350052 FILES FLAT BASTARD 300MM/12 IS Nos. 60 8734 1-Feb-23

109 72203171 DRILL TWIST HSS PS 8.50 MM IS 51 Nos. 85 8423 11-Nov-22

110 74498332 UNF (PIANO) HINGE SIZE 50MM X 525MM Nos. 117 7322 7-Feb-23

111 73563420 UNF HEX HEAD SCREW M10X40 - 8.8 TO Nos. 1357 6691 13-Dec-22

112 72208673 DRILL TWIST HSS MT 26.0 MM IS 51 Nos. 4 6604 21-Nov-22

113 72350120 FILES FLAT SECOND CUT 250 MM IS- Nos. 56 6566 8-Feb-23

114 73110577 UNF PREVAILING TORGUE HEXAGON NUT 
TO

Nos. 3662 6306 2-Sep-22

115 72202877 DRILL TWIST HSS PS 5.50 MM IS 51 Nos. 89 6154 18-Jun-22

116 72210564 CARBIDE INSERT DNMG 150608 Nos. 32 6043 14-Feb-23

117 83077110 UNF MEDICAL INDEX CARD G-416 Nos. 2049 5747 10-Jun-22

118 73561137 UNF SCREW MS BL HEX HD M12X20 G IS 1 Kgs. 874.714 5522 9-Jan-23

119 30057395 SAFETY STRAP ICF/SK3-0-5-014/COL-I Nos. 31 5094 30-Sep-22

120 72212779 UNF INDEXABLE INSERTS TNMG 160412 Nos. 35 4174 23-Jul-22

121 72383239 HANDLES WOODEN 750MM-SSI Nos. 19 4148 1-Apr-22

122 72900970 UNF GAS DIFFUSER (ORIFICE) FOR YT 40 Nos. 200 3604 23-May-22

123 83057511 LETTER HEAD FOOLSCAP PADS100LEAV Nos. 106 3021 25-Jan-23

124 72070250 UNF SHIM FOR SNMG 190612 Nos. 15 2850 23-Jul-22

125 81010515 ACID HYDROCHLORIC TECH IS 265/93 Kgs. 240 2758 29-Jul-22

126 72070262 UNF SHIM FOR DNMG 150616 Nos. 23 2644 23-Jul-22

127 72020234 UNF PARTING OFF TOOL HOLDER Nos. 1 2482 23-Jul-22

128 73560170 HEX HD SCREW BL M6X16 MM IS:1363 Kgs. 27.157 2158 31-Mar-22

129 67754053 TUBE 9.00X20 FOR LEYLAND LORRIES Nos. 1 1357 16-Nov-22



130 72094989 HSS M35 LONG M/CTAP CP TY B M16X2.00 Nos. 2 1260 23-Jul-22

131 83070370 APPLI FORM FOR RESIDENTIAL CARD Nos. 2150 1208 25-Jun-22

132 47333182 RELAY B METAL FOR 415V3 PH 50C/S Nos. 1 772 25-Aug-22

133 83077108 UNF MEDICAL IDENTICARD BILINGUAL Nos. 353 706 10-Jun-22

134 83077030 UNF TALLY CARDS THICK 330X205MM Nos. 250 500 14-Jun-22

135 31057627 H SPRING SPART DPC BOLSTER DETC G87 Nos. 176 176 30-Sep-22

TOTAL 93221583



WD / DP
6-Oct

6-Oct

5-Oct

8-Oct

6-Oct

6-Oct

6-Oct

5-Oct

12-Oct

6-Oct

12-Oct

5-Oct

5-Oct

2-Oct

8-Oct

11-Oct

4-Oct

5-Oct

12-Oct

5-Oct

8-Oct

12-Oct

1-Oct

1-Oct

12-Oct

8-Oct

5-Oct

51/10

12-Oct

5-Oct

12-Oct

2-Oct

8-Oct

5-Oct

8-Oct

6-Oct

5-Oct

51/10

8-Oct

12-Oct

4-Oct



2-Oct

5-Oct

8-Oct

5-Oct

5-Oct

12-Oct

5-Oct

2-Oct

4-Oct

1-Oct

12-Oct

2-Oct

12-Oct

12-Oct

1-Oct

2-Oct

2-Oct

5-Oct

1-Oct

6-Oct

1-Oct

1-Oct

1-Oct

2-Oct

1-Oct

8-Oct

6-Oct

12-Oct

2-Oct

51/10

1-Oct

5-Oct

4-Oct

8-Oct

8-Oct

1-Oct

2-Oct

12-Oct

1-Oct

6-Oct

12-Oct

12-Oct

1-Oct

1-Oct

5-Oct



8-Oct

1-Oct

1-Oct

1-Oct

2-Oct

1-Oct

4-Oct

1-Oct

2-Oct

1-Oct

2-Oct

1-Oct

5-Oct

1-Oct

1-Oct

1-Oct

1-Oct

1-Oct

1-Oct

1-Oct

2-Oct

1-Oct

1-Oct

2-Oct

2-Oct

1-Oct

1-Oct

2-Oct

1-Oct

1-Oct

1-Oct

2-Oct

8-Oct

1-Oct

1-Oct

1-Oct

1-Oct

1-Oct

4-Oct

1-Oct

1-Oct

2-Oct

51/10



1-Oct

1-Oct

51/10

1-Oct

1-Oct

1-Oct


